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QUESTION 1

Which of the following is not belong to HPCaaS solution applications? 

A. Scientific Computing 

B. Analogue Simulation 

C. 3D Graphic Design 

D. VM instances 

Correct Answer: D 

 

QUESTION 2

Which of the following description about differences between Memory Database and Traditional Database is incorrect? 

A. The traditional database system is designed to handle permanent, stable data 

B. Memory database used to deal with real-time data 

C. The data processed by the traditional database is usually "short", that is, there is a certain effective time 

D. The memory database consists of full memory calculation and thermal memory calculation 

Correct Answer: C 

 

QUESTION 3

What is called of storage space in the datafiles of a database? 

A. Extent 

B. Data space 

C. Data blocks 

Correct Answer: C 

 

QUESTION 4

Cloud computing supports elastic capacity expansion for storage space based on requirements, And the storage space
in Terabytes at most. 

A. TRUE 

B. FALSE 
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Correct Answer: B 

 

QUESTION 5

The SQL Server architecture consists of protocols, relational engine (query processor), storage engine and SQLOS. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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